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Pz () vy SEEr d, 99 4 @ e uie & 3w |
Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(i) Y% g9 & T} 9T 1 FHAR T qrey g Hifrd |
Solve all parts of a question consecutively together.
(iii) § ¥ F 79 93 8 IR B |
Start each question on fresh page.
(iv) 2t T F 31 83 1 e 4 i I & A 8 |

Only English version is valid in case of ‘difference in both the languages.

Explain the following :
0 kg
Transiting
(i) TriEmTEe % qervd 39
Fundamental axes of theodolite
(i) ToLH B
Subtense bar
(iv) 3chH 9%
Reverse curve
(v) Taga=io
Deflection angle (2x5)

2. () ﬁﬁ?ﬁﬁzmaﬁwﬁﬁﬁmaﬁmaﬁﬂ-ﬂnﬁgﬁﬁmﬁmm% ?
Which errors of theodolite are removed by taking both face observation ?
(ii) RpirereTse % wurh g 8g fafv= el o o ey B F1RY 7
What relations should exist between the fundamental axis in a theodolite for its
permanent adjustment ? (6+6)
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(2 0f2) 1075

H1eAT =shn | FuTA 3fe o & ud soeht aurieH fohe wenr feman smar 2 7
What is closing error in a traverse and how it is adjusted ?

THHTTA fHe9TTes Tunet qe was e vureft %1 3eE & |91y 99T |

Explain with example the consecutive co-ordinate system and independent co-
ordinate system. (6+6)

At ged 83 3 &faw gl a1 i faft =i qwemse |

Explain the method of measuring horizontal distance by vertical subtense bar.

wAfcrfess o % fagra 1 fom grr awsmse |
Explain the principle of anallactic lens with the help of a diagram. (6+6)

HERHY] 56 991 BT 2 7 38 & § Ugh B 1 31 I BT R 7

What is transition curve ? What is the aim to provide it in the field ?

Ueh HleT AR a3 o fafi= faaal =i afes augmsu |

Explain the different elements of a simple circular curve with a neat sketch.  (6+6)

Wer gagu 1§ Jae St faf # aaegmu |

Explain the weisbach triangle method in mine surveying.

o1 wE ve Fremeedt @ 3y Fu wned @
What do you understand by tunnel alignment & setting it out ? (6+6)

g et <t S Pt aete grr s w0 6 fafa | wwgnge, 5w @
Ry feig 37 e fig uw &t Seater wwaet # € qur fawt @1 3R s E |

How will you find the height of top chimney when the base of chimney is
inaccessible and top of chimney and instrument stations are in same vertical
plane ?

faflr=r wehr & wshmor ashi 1 wfaa T |

Explain different types of transition curves with neat sketches. (6+6)

Foragi ghl Ao 9 W Efew foavft fafia |

Write short note on electronic distance measuring instrument.

FHEETo 95 $1 &7 ¥ fohg wer wnfua faran smar @ 7 |wsngw |

How to set-out a vertical curve in field ? Explain. (6+6)



